ALL RIGHTS RESERVED FC/CC/M-2018-02
gaffier gifarm

2018
GENERAL STUDIES
HHTT Agg4
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T3—1
Time Allowed : 3 hours Maximum Marks : 300
#RY : 3 A0 qurf# : 300

Instructions :

* The figures in the margin indicate full marks.

* Answer eight questions, selecting three each from
Section—I and Section—II and two from Section—III.

 Candidates are required to give their answers in their
own words as far as practicable.

» All questions have been printed both in Hindi and
English. In case of any ambiguity in Hindi version,
the English version shall be considered authentic.

» Parts of the same question must be answered
together and must not be interposed between
answers to other questions.

S :
o 3T % 37 U % AT ol

. @] U9 @UB—II U ¥ ¥ dA-df7 U9 aen wue—I11 @
T 1 T HA §C FA ATS T % IW S|
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SECTION—I
@us—I

1. Describe the significance of Gandhiji’s social
and cultural thoughts. 38

st % Wi @ gt fErt f gem #1 9
hifer

2. Discuss the development of western
education in Bihar from 1857 AD to
1947 AD. 38

fogr % w9 1857 ¥ ¥ 1947 % e fanm &
fawmm it fam= Hifsm

}‘. Discuss the contribution of Bihar to the
Uprising of 1857 AD. 38

T 1857 % faxie # fogr % Wem it faa=m Hifvw

} Evaluate the causes and results of Revolt of
Santhal (1855-56) in Bihar. 38

fogr # g fagie (1855-56) % SO Td giommHt
1 qodTh HITT |
5.. Describe the causes and results of
./ Champaran Satyagraha in Bihar (1917). 38

fogr o 9mRw ¥R (1917) % HROT T& qRomE]
%1 9uiq FHifsT|
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6./ Examine the salient features of Patna Kalam

Painting Style. 38
T oW forwan et f g fadaatt w1 ol
EAS I
SECTION—II
woe—II

7. Explain the BIMSTEC organization. Throw
light on the outcomes of recently concluded
Kathmandu Summit of BIMSTEC countries.
Discuss the issues related to India’s
interests, hopes and grievances. 38

faraes 9e B we ity e 3w & we A
T § g HIoAIg FEeH % IR R S S|
wid & fa, st wd angnelt ¥ weftm fawdl A
faa= fifsm)

\}/ Critically examine the Rohingya Refugee
Crisis. Describe the role of Myanmar, China,
India and Bangladesh in evolution and
resolution of the crisis. Throw light on the
violation of Human Rights in context to

Rohingya Refugees. 38

Afier wromeli Gepe i TS e i)
o 6 IQf @ guYE § =R, €F, Wi
SR $ yfte w1 quiA i) A ot
g & AraftEd & & W T S|
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9. What is the two plus two dialogue? Clear the
two plus two dialogue between India and the
USA in context to India and Iran bilateral

relations.

3 @ 2 AT R R7 WA U oA % Ruafa werdl &
wal § i @ iR F 9 gl 3w g Al B
Wy iR

38

10 What do you know about NRC dispute?
[lluminate the political intentions behind it.
Discuss the international impacts of this

i1ssue also.

To 3o Hio faag @ 9 w0 vz &7 39 foaw #
fifga Torfifas wamett ® wE AR W O *
e g ot fad=m fifs

38

\1/1[ Elucidate the international terrorism. How is
the international community today trying to
fight the menace of international terrorism?

What is UNO’s contribution? 38

FGE ACFAR B WE HINY| A FRYE
e 6 TR iy Adsae & @R 6l g
% 7T Yo & @1 27 T TE 99 61 1 IS 87
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SECTION—III
@ug—III
/‘

In a city of Maharashtra, the main mode of |
transport is the car. The following chart |
shows the population trends and car use |
trends during the period 2011-2016. Study

the chart and answer the questions that
follow :
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/ —p— Female population
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T
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(a) In 2014, if the females used 30% of the
total cars, then what is the per capita
use of cars by females in 2014? 6

(b) What is the average percentage increase
in number of cars over the period

W W TR

2011-2016? 6

(c) Find the year in which the ratio of males
to that of females was the highest. 6
FC/CC/M-2018-02/14 ( Turn Over )
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()

(6)

If in 2012, 60% of cars are used by
males, then what is the percentage of
males and females who used car in the
year 2012?

In which year

the ratio of male

population to the number of cars in the
city was lowest?

With what percentage, the number of
cars in the city was increased from 2011
to 2016?

TETY % T Wt AqrT B g " N 2| A
fou MU e # swen R A FR O KW A
gfv 1 3@y 2011 | 2016 % * T F@ian ™1 21 «
St & e Hife aur 3 e R T awi %
W dfe
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(%Y 2014 # a2 Tt il 41 30% wim wfverisit 3
< fm, A uf wfeen Bred FR0 w wEm 2014 |
zan?

( aafy 2011 ¥ 2016 & fou #0f H wem A
streq wfemm gfe @ A

}?’/Waﬁﬁmaﬁﬁq,ﬁ?{aﬁfgmﬁamnﬁwaﬁ
1 IIAE R A A |

(Y AR 2012 § 60% Ft Teul g IEM K T,
A 2012 F R M F@ T TE AR A
1 yfqwa #0127

e ad § qew SR T TR A B A A
1 I TR A?

(3) zouﬂzowmmﬁmﬁeﬁé@ﬁ%ﬁ
yiewa 6 34 g7

13" Study the following pie charts, which show
the expenditure on various heads in the
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second and third Five-Year Plans (FY P) and

answer the questions given below it :
Village Industry

Village Industry

Second FYP
( Total expenditure :

F Third FY P
4,600 crore ) ( Total expenditure :

¥ 7,500 crore )

(a) By what percent, the expenditure in
irrigation increased in the third FYP in
comparison to the second FYP? 6

(b) What is the ratio of expenditures in
village industry in the second and third
FYPs? 6

(c By what amount, the expenditure in
agriculture in the third FYP should have
been increased or decreased so that to
make it 2-5 times the expenditure in
agriculture in the second FYP? 6

(d) By what percent, the expenditure in
agriculture in the third FYP is higher or
lower than the expenditure in industry
and mining in the second FYP? 6
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(e) By what amount, the expenditure in
transportation and communication
increased or decreased in the third FYP
in comparison to second FYP? 6

()i If the total expenditure in the fourth
FYP is increased by 80% to that of the
third FYP and the segment of
expenditure on social service and
miscellaneous makes an angle of 78° at
the centre of pie chart for the fourth !
FYP. then what will be the expenditure
in social service and miscellaneous in
the fourth FYP? 6

ﬁgﬁvwﬁaé’wmaﬁihﬁﬁnﬁﬁmﬁmmﬂm
?mr?wi#.wﬁn,ﬁmﬁé&qnqi:

(FA =23 : £ 4,600 F78)

(3774 : ¥ 7,500 F18)
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fidtr Geadta AeAT H gan d gEA deEdiy
Ao & e d = 8 A vfawa B agad

Y

(@ mﬁmﬁﬁﬁﬁﬂ@qﬁﬂdﬂaﬁﬂmmﬁﬁ
T T T I 1R

(Yt st s 3 @ o
W B g s T A T o R
Yeaffa e § F F @1 ™ < B 205 T
& Sar?

f/ﬁ_@dﬂaﬁwmﬁa@ﬂsﬁ_@ﬁ@w

1 gom # el deadiy A § i A gan =
fr e arfee arora = 27

(@ e dta Ao g § gha o
AISAT # I T grEEn 3 e sifte aremn
FH I gAY ‘ -

(3R =g wfia e # et o e
aﬁmﬁwﬁ_&%wmwa@ﬁa&h
Ao ¥ S YatE ¥ e w1 @ e @

@UE F H 78° F W A, At wge =adiy
e & T S U 31 & fha s Byt

FC/CC/M-2018-02/14 ( Continued )

Scanned by CamScanner



(11 )

14. Study the data given in the following multiple
bar chart, which shows the sex ratio in
Madhya Pradesh during the period from

1901 to 1971 and answer the questions
given below it :

1000 1 Total 3 Rural O Urban

975
925 -
900 -

875 YV

Females per 1000 males

850 (A

1931 1941 1951 1961

Census Years

1901 1911 1921 1971

(a) What are the ratios of females per 1000
males in rural and urban areas of
Madhya Pradesh in 1941 and 1951
Census? In which year was it higher? 6

() What is the percentage change in
females per 1000 males in urban areas
of Madhya Pradesh in 1961 in
comparison to 19317? 6
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(c) Compare the ratio of females per 1000

males in total and rural areas of

Madhya Pradesh in 1911 and 1921

Census. In which year was it higher? ¢

(d) In which census years, were the female
sex ratio in urban areas of Madhya
Pradesh highest and lowest? What is
the difference between these two? 6

(e) Ifin 1931 Census, due to some error in
counting 15 females per 1000 males
were wrongly counted in urban area
instead of rural area of Madhya
Pradesh, then what should have been
the actual percentage of females per
1000 males in urban area of Madhya
Pradesh to that of rural area in 19317 6

(f) If in 1971 Census, there were 90 crore
males in rural areas of Madhya
Pradesh, then what is the difference
between male and female population in
rural areas of Madhya Pradesh in 1971? ©
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(M) 1911 qur 1921 1 SO # BA W F Fa
e Tt wer & wR 1000 Fedl # AfEenat %
Wﬁwﬁmlma&ﬁﬂzw&?ﬁm?

@) ¥ s oSt § we Rw % weld s i
wiven fermuTe siERde Ta Ta 47 I &
T 3 foRa §7

(®) IR 1931 H wwom § ™F | fHE Ff &
FAO 15 Afeard wfd 1000 JEY T ¥ 9
TRY & AT 3o F S5 wed ol 7 i
[, @ 1931 § 7 YW & el s |
yfd 1000 g9 & wigensti &1 T At 4
rEdfass gfawd feran aran?

(=) 3k 1971 &t SO F 9 Ry F e
T § 90 FUS T/ 9, 9 1971 § ey iy
< UTHIV Sellenl H J69 a1 Aidel SHue & 9
A T A7
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15. Study the following line graph, which gives
the Public Sector Banks advances (¥ in
crores) to the three priority sectors, viz.,
agriculture, small-scale industries and other
private sectors during the period from 1970
to 1976 and answer the questions that

follow :
T T T 17 7177 |
Public Sector Banks Advances
(¥ in crores)
200
5§ 160 ‘."' ] - Small-scale
E d g Industries
O 3 'l / \“
E 120 &~ /,-; 7 -."
h ‘ A7
9 \ P / o Agriculture
s TN o
SN
< \ ‘l‘\/ ‘.."¢' P / \
40 = — ]
\ - N — Other Private
~k -] N Sectors
~ L o
| } ] ]
1970 1971 1972 1973 1974 1975 1976

Years

(a) What percentage of more advance was

given by the public sector banks to

small-scale industries in comparison to

agriculture in 19717

FC/CC/M-2018-02/14
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(b) Find the ratio of advance given by the
public sector banks to agriculture,
small-scale industries and other private

sectors in 1972. 6

(¢) The total advance counted yearly from
1970 to 1976 by the public sector
banks to small-scale industries is what

percentage of that to agriculture? 6

(d) If 40% of advance given to small-scale
industries is utilized in cottage industry,
what amount was utilized in cottage
industry in 1975? 6

(e) Find the ratio of advances given by the
public sector banks at three occasions
between 1970 to 1976, when it was
equal for agriculture and small-scale

industries. 6

(f/ In which two years there was decrease
in advance given by public sector banks
to agriculture relative to the last year?
Also find the percentage decrease in

advance in these two years. 6

FC/CC/M-2018-02/14 ( Continued )

Scanned by CamScanner



(17 )

R R o w srm difw, fed
wESE & % & g wufiew F 9 A FH,
Y-wHE e qur o feh &= A efy 1970 @
1976 & & T8 fim ufy (€ Fg #) § R FqMHA
T % W v, s AN Ry E

rrrrrr T
s &1 % d@ f A i

(T TS )
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hh’/ L~ éa.
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T

1970 1971

(@) 1971 & wESHF &1 & SH T AY-wA
e # FR R ga § fha wiowa it
Hftm wem faan mn?
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(@) 1972 # wdafE &4 F b T OFN,
-l sEm q o et & H R T
Ifim # g Fefe)

(M) 9uigTE@ A wA W 1970 ¥ 1976 Th
g &4 ¥ S g ag-wha A R
T g WM R B R 3 Afm w !
e S 27 ’

(@) AR ag-wly M | v ™ 3w = 40%
FIR IJAM F IWM Fa@r g, A 1975 H FR
e # e Tf w4

() 1970 ¥ 1976 & A G- &F & sl g
few o 37 dF sl @ g g Hifse, swfe
F qo1 Y-TalE I fon T sifim wwe
Of

(F) T 3 aul & e af i go § gevfs & |
% 9% g HY @l TR T Afim § wh a? @ l
A aut & fow fim 8 g vfowa =0 =1 o
Hifvm)

* %k ok
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